RO RARY CAR YOU &7

.. HOW RaRY WE&?@@ B&?

DAY 1

DAY 2

DAY 3

DAY 4

DAY 3

DAY 6

DAY 7

If A=2%3%5° and B=2%3/xH

A car depreciates by )% per annum.

fx) = 8x - |

Write p& x |O4 in standard

Write in the form » : ]

)y 3 5
hat is the LEM and BEE of A | 1f it cost £7200 how much is it worth Galculate:23 —12 What is [% of §47
o &afﬁﬁ:d et in 3 years time? Caleulate (D) o > 6 0 4 form £3 /60p
Find the value of x convert §m/s to | what is the gradient of the line | WITHGUT a calculator catoutater 32 CALCULATE 2.5% Calculate:
alculate: - T
42y 4" 4" km/hour between (-3,3) and (7-0)7 12,002 - &7 10 of 84 G x 107 x (7 x 109
What is the midpoint of g% x gt ' If a “thing" travels at || m/s for lcm? of gold has mass of |4,32g. e 3 2 A “thing" costs £6500 + 20%
(0, ]) and (5f)|0)? Calculate  —zz— |[Whatis [2.0% of £407| 40 minutes, how far does it | o’ of plasinum has mass of 21455 Galculate:ss <15 VAT. What is the cost including

travel?

Which metal is denser?

VAT?

What is % 3 -2 What is the overall percentage " 3 ritten as a y is directly proportional to x

SIMPLIFY : VT50 000LESS | ojcuiae (3)7 | mreredisimmens | e g s v | Copubite 3305}
than 5 million? followed by o 4[]% decrease? ' Find x when y = |43
: Simplif E . to 1 Expand and simplif Share £3% in the ratio
SKMF"\f_\/ axa+b+b+b prty Round 233.178710 1 Work out: 2572 Convert ;250mm"2 to cm’ XP P
6V56 significant figure A3+ |- 3% - 2) 9:3

A circle has an area of 5Om2. The area of a square is §(cm™. Find f(x)=Ax -9 Wirk Oul".l What would you PREFER? Expand a,\A simplify

Share £180 in the ratio 4—5 What is its radius to the nearest | the length of one side - |eave your . 1 4\ 2 8\3 40% of £50 or
answer in surd form. Find f (x) (E) x (;) (X B U(x * |)

cm?

50% of £40

DAY 3

DAY 7

DAY 10

DAY 11

DAY 12

DAY 13

DAY 14t

Calculate:

Friends A, B and C share some sweets in the
ratio J:3:9. C has (h more sweets than B.

Simplify

werk wut

Round 70H.06 to |

Work out:

What is the gradient of

A 4 1 3 .
34x 107 +6-7x 10 How many sweets altogether? 4x2y~2 x 3x2y3 A3 x 125. & significant figure 812 x 3V3 the line QU =3y 7
I buy a "thing" for £52.26 which CAI.(UI.ATE There are 7 blue pens and ] red pens. What is the | th the i x is rounded to G000 which is | sig. srmpn«{;y
includes ()% VAT. What is the cost B What fraction of the pens are not o1 is the length of the line What is I;l X 04? fig. What is the E‘Em@ﬁ -
8.3x10°-7x 10" ’ between (-3,) and (0-2)7 ‘ ‘ (x2)
before VAT is added? r D X X red? ’ ’ ﬁm’ﬁm‘r&[‘f
What is the Factorise what is the gxact value of | ., reiing » FRTTR DIGE ... Qolve : Without o calculator The equation of o EEMAZ@ is given as
e 3 2 2 what is the probability of rolling a nuber xey?e36
%@@@E\@%i of 8? ;Odb - l50| b sin GOO ? greater than 27 Q(3x— ()+5(X+3)= ;24 216-3x 43.7 What is the radius of the circle?
Write as a fraction Factorise A bank pays 4% compound interest. Find D numbers with a ranae of 10, Solve : What is the ﬂ\ﬁj@ﬂ of a square

if 3 people can build a wall in H days.

0.52 Wit toke 7 me 2 £2000 is invested, how much | g mode of 4, a median of 6 and a ~ i cide e
How long wil it take J men? |4.(r)+ |) + ;26(|9+ l) interest is earned over ) years? meadn of 7 qX —2(5)( - 5) = 6 with side length 2 Hem?
Expand and S'MPL'FS The ratio of penspencis s 3+ 5 make "y" the SUBJECT of Factorise Prove that n*+n is always a Whoat is the value of Make "a" the subject :

(3x + 25 - )

The ratio of pensrulersis § :1
What is the ratio of percis : rulers 7

Hxy + 3x = q-3y

36+ dgb” + 6

multiple of 2

540 7

A 208

True or False?

4--3-7

Exyan& and simplify

(xv” - x + )

what is the ISR rule?

What is the LOWEST COMMON
MULTIPLE of 2, 20 and 247

FACTGRISE
-0

Find the nth term rule :

8§ 23 48 83 1a8

Write 0,9 million in standard

form?
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I have tried to ensure the answers are correct
BUT ... you know how it is!! If you find any

mistakes email me: mel@justmaths.co.uk

ANSWERS

False it is -1

xzy2 +2xy4 -Xy —2y3

a? = b% 4+ c? — 2bc CosA

DAY 1 DAY 2 DAY 3 DAY 4 DAY 3 DAY 6 DAY 7
23
2%x3? £5,248.80 £39.00 30 12.6 6.8 x 10*? 5:1
30
X=6 288 km -1 11105 5 =33 2.1 3.5x 10"
33
(1.5,5.5) 8 11.25 26.4 km platinum 5 -%3 £7,800
16 3317
5V6 4,995,000 = 16% increase 37.5% x =22 36~ %36
a’+3b 10V14 200 é 2.5cm? 9x+8 £29.25: £9.75
x+9 125 2
80:100 4cm 5v2 2 = They are the same X -1
DAY 3 DAY ? DAY 10 DAY 11 DAY 12 DAY 13 DAY 14
4.07x 10° 30 12xy 666.74 800 144 gradient = 1.5
7
£43.55 829,930 or 8.2993 x10° 5 5 0.48 5500 < x < 6500 x*°
9
5 5ab(4b? - 3ab) 5 =3 x= 1 9452.31 6
4
= 7.5 days 7(p+1)(p +5) £163.20 446714 x=- 6.25
9-3 2 _ 2
-6x” +11x +10 24:5 y= ad 3(a’b +2ab” + 2) Proof given 1 a=—r
5x+3 S
120 (x+5)(x - 5) 5n°+3 9x10°




